
1     2
7     4
5     1

6     1
2     0
1     8

+ =
7     3
9     4
6     9

1 + 6     2 + 1
7 + 2     4 + 0
5 + 1     1 + 8

𝑎ଵଵ + 𝑏ଵଵ     𝑎ଵଶ + 𝑏
𝑎ଶଵ + 𝑏ଶଵ     𝑎ଶଶ + 𝑏ଶଶ

𝑎ଷଵ + 𝑏ଷଵ     𝑎ଷଶ + 𝑏ଷଶ

You may only Add/Subtract Matrices of the Same Size.

Add/Subtract 
corresponding Entries

+

1     2     3
4     5     6
7     8     9

1     2 = No Solution

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝐴     𝐵

𝑎ଵ     𝑎ଶ     …     𝑎௡

1     2     3

𝑏ଵ

𝑏ଶ

…
𝑏௡

1 × 𝑛

𝑛 × 1

= 𝑎ଵ𝑏ଵ + 𝑎ଶ𝑏ଶ + ⋯ 𝑎௡𝑏௡

1 × 1

4
5
6

𝐵 =

𝐴𝑑𝑑 𝐴 + 𝐵 1     2
7     4
5     1

6     1
2     0
1     8

𝐴 = 𝐵 =
Must be the Same Size

Must be Same

Answer in this Form

𝑟௔ × 𝑐௔       𝑟௕ × 𝑐௕

𝑐௔ = 𝑟௕

Answer
𝑟௔ = 𝑐௕

𝑌𝑜𝑢 𝑚𝑎𝑦 𝑜𝑛𝑙𝑦 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑖𝑓 𝑐𝑜𝑙𝑢𝑚𝑛𝑠 𝑖𝑛 𝐴 =  𝑟𝑜𝑤𝑠 𝑖𝑛 𝐵 (𝐼𝑓 𝐴 𝑖𝑠 1𝑠𝑡)

𝐴     𝐵 ≠ 𝐵     𝐴𝑟௔ ; 𝑟𝑜𝑤𝑠 𝑖𝑛 𝐴 𝑐௔ ; 𝑐𝑜𝑙𝑢𝑛𝑚𝑠 𝑖𝑛 𝐴

𝑟௔ × 𝑐௔ = 𝑟௕ × 𝑐௕

1 × 1

= #

1 × 1

𝐴 =

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝐴     𝐵

1     2     3
4
5
6

= 1 × 4 + 2 × 5 + 3 × 6 4 + 10 + 18= 32=

Useful Step!

Vancouver sells 1 apple for $4, Calgary sells 2 pears for $5 
and Toronto sells 3 carrots for $6. Think about it! 

It is not difficult to figure out the meaning of examples of larger size multiplication of matrices.

Each cities Sales!
Total
Sales

In the future you will do this in 
your head (While Pointing!)

Sales
Numbers

City Prices

You will do matrix multiplication and then matrix subtraction for example to see changes in yearly fruit 
sales in the three cities.

𝑃𝑜𝑖𝑛𝑡 𝑡𝑜 𝑤ℎ𝑒𝑟𝑒 𝑦𝑜𝑢 𝑙𝑜𝑜𝑘.
𝐵𝑜𝑡ℎ 𝐻𝑎𝑛𝑑𝑠!

𝐿𝑒𝑓𝑡 ℎ𝑎𝑛𝑑 𝐻𝑜𝑟𝑖𝑧𝑜𝑛𝑡𝑎𝑙
𝑅𝑖𝑔ℎ𝑡 𝐻𝑎𝑛𝑑 𝑉𝑒𝑟𝑡𝑖𝑐𝑎𝑙!
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